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This booklet consists of 100 Multiple choice questions. Each question
has 4 (four) alternatives (A), (B), (C), and (D). In any case only one
alternative will be the correct answer. Choose the right alternative
and darken the appropriate circle in the answer sheet in front of the
related question.
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For each correct answer One mark will be given and for each
incorrect answer 0.25 mark will be deducted.
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Use Black/Blue ball point Pen to darken the circle. Answer once
darkened is not allowed o be erased or altered. Against any question
if more than one circle is darkened, machine will allot zero mark for
that question. .
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In OMR answer sheet candidate must fill up all required information.
and for this candidate must darken the appropriate circle. The OMR
Answer sheet will not be evaluated if the candidate fails to fill up the
required circles correctly as per the given directions.
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Read the instructions printed on Answer sheet carefully before filling
the information on the answer Sheet. Do not fold answer sheet in any
case.
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Before beginning to answer the questions please make sure that all
entries on OMR answer-sheet and Test Question booklet have been
duly completed.
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Candidate should not leave the examination halliroom without
handing over his Answer sheet to the invigilator and without
signing on the attendance sheet. Failing in doing so, will
amount to disqualification.
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After receiving the instruction to open the booklet and before
answering the questions, the candidate should ensure that the
Question booklet is complete.
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Note : In case of discrepancy in Hindi language, English version will be treated as final
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GENERALAPTITUDE AND NUMERIC ABILITY

Directions for Q.1 to Q.5: Find the odd-man out:
U @ -5 & fay il awa Rew st gy

. (A) ring (B) bangle
(C) tyre (D) plate
(A) s (B) 21
(C) e (D) @e
2. (A) nails (B) hair
(C) grass (D) fingers
(A) /A (B) arat
(C) ara (D) Suferai
3. (A)KOM (B) UYW
(C) FIH - (D) DGF
4.  (A)JFB (B) TPL
(C) VRM (D) LHD
5. (A)TQR (B) PLM
(C) DAB (D) XUV

Directions for Q.6 to Q.11: The questions are based
on the information provided below:

YUY W& 611 @ fay e e Preafafaa
9w ImelRa 2

Eight fighter pilots flying over a conflict region notice
some hostile activity taking place in a village. To
peaceably resolve the conflict, they land their planes
and decide that it would be best to send those pilots
who would best complement each other as negotiators
to talk to the warring parties. The pilots A, B, C, D,
E, F, G and H are chosen as negotiators according
to the following conditions:

L A is chosen if B is chosen.

II.  If Gis not chosen, then A and F are chosen.

III. B and H are chosen if A is chosen.

IV.  IfF is not chosen, then G is chosen.
V. IfHis not chosen, then E is chosen.

VI IfCisnot chosen, then D is not chosen, and if
D is not chosen, then C is not chosen.

TS AL, UIdee Wus &3 & fHd 79 ¥ 3o ufyufy
nfafafy < 2| g7 B wigel oS ¥ e @ g
q 39 AT TR B IaNd § 3R S o § 5 wmed
gY WA @ aradia 3 @ forg 97 raerel 1 Ao g
Sl AAiER & W9 A 1@ g B RgRa 9 § | T A,
B,C,D,E,F,Gsﬁ?Hmﬂhma%mﬁﬁwmﬁwgﬁ
IGE:

L AgT o @ erR B g1 oirar @

Il 3R G =&l g1 oirar @t AsiR Fae o 2
L. Baik HeY oY &, 3w A 91 omer 2

IV. 3R F 58 g1 wmar @ @ G g e @

V. R H =&l g wmar @ a1 E g1 wiwer @

VI e Cdl g1 wivar @ at D =7t g7 s aiv o
D &1 w37 =€l €ar & C =& gar wmar @

6. Which of the following could be a complete
group of the negotiators?

ﬁﬁ%&aﬁﬁﬁﬁmﬁﬁaﬂwwﬁrmﬁ?
(A)F,A,H B (B)G,D,C
(C)E, A, H F (D)A,B, F,G

7. Who could be sent to negotiate alone?

(A) G B) A

o e (D) None of the above
ol st amaf &9 @ forg A9 waar o
A)G B A

©cC (D) ¥ % 3¢ 7

8. What is the greatest number of pilots that could
be sent to negotiate?

UrEerel B waW S e o ¢, 9 araf & fag

A Ao &
(A)S B)6
7 D)8
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9. If G is not sent to negotiate, then which of the
following is a complete and accurate list of
pilots who must be sent tone gotiate?

s G arat @ farg =€ A wear, @@ e
gt % § B ot F w7
(A)F,A,E,H, B (B)A, B, HF

() H,B,A4,C,D (D)H,C,D,BAF

10.  If His not sent to negotiate, then which of the
following must NOT be true?

(A) Fis sent to negotiate.

(B) E is sent to negotiate.

(C) B is sent to negotiate.

(D) G is sent to negotiate.

o H ) arat @ forg =11 o wnan &, @ Pt
¥ o v A © w87

(A) F &Y 3om St @ (B) E & %o Sl @
(C) B @\ rom s 8 (D) G & % oI &

11.  Which pair of pilots cannot be sent to negotiate

if B does not negotiate?

(A) Aand H (B) Gand F

(C) Eand H (D) Gand E

ar B arat # wr e Qe 8, wgedt A S W
& @ ot S forg T8 A wHen 87

(A) AR H (B) GaR F

(C) EsirR H D)GRE

Directions for Q.12 to Q.17: The questions are based
on the information provided below:

e w@n 12—17 & fag fdm g frafafaa
Er R A 21

A number of dacoits need to hole up in their hideout.
The problem is that, as with many criminal groups,
there are a number of personality conflicts that

I If D is in the hideout, then E is in the hideout.
[I.  IfEisnotinthehideout, thenA is in the hideout.

III.  If B is not in the hideout, then Cisnotin the
hideout.

[v. If F is in the hideout, then H is not in the
hideout.

V. IfAisnotin the hideout, then Bis in the hideout.

@sﬁaﬁaﬁﬁa}%ﬁﬁﬁﬁmmaﬂmﬁm
mﬁvﬁﬁﬁmmmwwwmﬁcﬁ
wwﬁ@%ﬂm%mwﬁmﬁmﬁﬁm
<& ) ed 3@ . 3 A, B, C, D, E,F,G#R H?
fren v fe ol gufe g E

I. s D Tt @ arex & @ E 5eM & AN €.
11 aRERFAi At aa ARFH AL

1. e B e & A @ o C R A T8 &

v R F foam 3 @ e HRam § 78 8.

V aRAfsR#adida BR&AAR

12.  Which of the following could be a complete
list of the bandits in the hideout?

e 3§ @ T T T @ @ W@ I A

a7
(A) A4, E, F,H (B)F,D,C, B
(C) E, H,D, A (D) H, B,E,C, F

13.  Who could be the only person in the hideout?

e A ader A I & wdHal 87
(A) A (B) B
O E D) H

14.  If there are seven people in the hideout, then
who could potentially be outside of the
hideout?

R R # W A § @ wa B Rem 3
TR B FHA 87

disallow certain members of the dacoit group from A) G (B) F
being in the hideout at the same time as certain other (©) 4 (D) D
members. The personality issues of the bandits A,
B, C, D, E, F, G, and H are illuminated by the
following constraints:

Space For Rough Work
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15. If A is not in the hideout, then which of the
following must be true?
(A) D is not in the hideout.
(B) E is not in the hideout.
(C) B must be in the hideout.
(D) C is not in the hideout.
AR A e 4 @ & @ e # A B W e
FA B ?
(A) D fear 3 781 €
(B) E foar % 781 €
(C) B feam ¥ g =fev.
(D) C far 3 78 2.

16. If D and C are in the hideout, then who could
be outside of the hideout?

(A) Aand E (B) B and G

(C) Eand B (D) Hand F

s D 3R C e 3 €, ot 91 Rem & aex &
whar & ?

(A) A3RE (B) B3R G

(C) ER B (D) H3R F

17.  If F must be in the hideout when 4 or B is in
the hideout, then which of the following must
be true?

(A) C is never outside of the hideout.

(B) C and B are always in the hideout.

(C) His never in the hideout.

(D) D and E are always in the hideout.

sy F ot foar # g anfey o A4 3R B e
¥ ¥ qq g @ o W YT wA @M ?

(A) C Ram & aer o1 T z

B) CakBRaM AT A W &

(C) H fdam 3 &+t =8 &.
(D)Daﬂ?E%aiﬁﬁEﬁm%ﬁ%‘.

Directions for Q.18 10 Q.23: The questions are based
on the information provided below:

qe W@ 18-23 @ fug Prdw: wwa Prafaled
A W arEd 2

As Sumit closes his eyes to go to sleep, he visualizes
nine sheep jumping over a fence. The sheep’s names
are Arti, Bhola, Chotu, Dhuli, Esha, Fallu, Golu,
Heera, and Itti. The sheep are either in the pasture
or outside of the pasture based on whether or not
they have jumped over the fence. Their presence is
governed by the following constraints:

L. If Golu is in the pasture, then Dhuli is out.
1. IfFalluis in the pasture, then Arti is out.
L. Ittiis in the pasture if Fallu is out.

IV.  Dhuliis in the pasture if Chotu is in.

V. Eshais in the pasture if Bhola is out.

V1. Heera is outside of the pasture.

VIL If Golu is outside of the pasture, then Esha is
out.

ﬁ\‘#'@gﬁaaﬁaﬁmﬁ%m%jﬁﬁiﬁs’faﬁw
éﬁaﬂmﬁﬁ%@m%lﬁ@f%mm,ﬂ\mtmw.ém
e, ey, O o R € ¥ 7 A IROTE B A & A
m%la’f%aﬂ%aﬁaﬂﬁzaﬁﬁwﬁﬁﬁlm
Sty frefafa ol &1 gred xdl €|

E mzﬁamﬁ%a‘rgﬁrm%mﬁl
Il mmﬁwﬁ%a’mﬂ?ﬂm%l

I sf=rmme § & A oo T T

IV. g?ﬁmmﬁ%uﬁw‘rq\mm

V. ame ¥ @ afy e R g

VI % 9ReE & 9

VIL nﬁﬂam%m%aﬁmwﬁwh

18.  Which of the following could be a complete
list of the sheep outside of the pasture?

(A) Dhuli, Chotu, Arti, Heera.
(B) Bhola, Dhuli, Itti, Arti.
(C) Itti, Golu, Esha.

(D) Golu, Arti, Itti.
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19,

20.

21,

Wﬁ%%ﬁ@@ﬁ@aﬁ%m
FRTE & q88 ©7

(A) gefl, 81, e, €rr
(B) #rerr, geft, g, sy
(C) =0, iy, g

(D) e, sielt, et

If Golu is in the pasture, then which of the
following must be true?

(A) Itti is in the pasture.

(B) Bhola is outside of the pasture.

(C) Chotu is outside of the pasture.

(D) Fallu is in the pasture.

IR i FRTIE # & oY fe A i v g
(A) s arrmE & & |

(B) e armmE @ arex &

(C) vic arrme & awe 2|

(D) weef aRIME & 31w

Which of the following pairs can never be in
the pasture at the same time?

(A) Fallu, Itti. (B) Esha, Bhola.
(C) Dhuli, Chotu. (D) Chotu, Esha.

71 & & 2l 0 NS S N TR ¥ v |
TEl B gHd?

(A) woe, sy
(C) gef, I,

(B) =, sirem
(D) o1, $m

You will know the exact position of all the
sheep if you know that which two sheep are in
the pasture?

(A) Ttti, Bhola. (B) Dhuli, Esha.
(C) Arti, Chotu. (D) Itti, Arti.

@I M 2 el @ awrmE ¥ SuRafy, s A
o Al A wd Rfy qar 2

(A) sfa, drer (B) geft, g
(C) s, B, (D) =, an=eh

22

23.

Atmost, how many sheep could be outside of
the pasture at the same time?

(A) five (B) six

(C) seven (D) eight

@ fba A8 va |y A grrmE @ aE @)
wad §7
(A) dfg
(C) 5ra

(B) o
(D) s

At most, how many sheep could be in the
pasture at the same time?

(A) four (B) five

(C) six (D) seven

yfREaH fFad 4 ve |9a #§ IrmE @ sy 8
Hadl €7

(A) 5
((OR:=

(B) ui=
(D) wra

Directions for Q.24 to Q.28: Read the following
passage carefully and choose the most appropriate
option.

Five roommates Randy, Sally, Terry, Uma, and
Vernon each do one housekeeping task mopping,
sweeping, laundry, vacuuming, or dusting one day a
week, Monday through Friday.

(o)

Vernon does not vacuum and does not do his
task on Tuesday.

Sally does the dusting, and does not do it on
Monday or Friday.

The mopping is done on Thursday.

Terry does his task, which is not vacuuming,
on Wednesday.

The laundry is done on Friday, and not by
Uma.

Randy does his task on Monday.

Space For Rough Work
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I - ], dell, o9, 9w, ot @i A ¥ vl @

HHIR | YR @ 9 Cw R dre, g, 2a, euS @

HEE B, TGerH TR | WHIE SRAT AT g e |

A U@ OR-—WaTe! BT T FEAT Tl & |

o T Jaga T8 wvar & SR AU HH HeER @)
& Fvar B

o ¥l g Frea R 3R W AR A1 YFAR F) A8
HRAT 2 |
TRWTAR ST ST T W @ |

O I W T dageH BAT AE { AR B e
21

o FUS A YA YHAR B a1 omar € ok wwr @
BT A

o 0 AT HTH WEAR F BYar &

24.  What task does Terry do on Wednesday?

(A) vacuuming (B) dusting

(C) mopping (D) sweeping

0 qUAR B F@r Hwar 27

(A) dagam &1 B (B) ga w12 &1 &4

(C) "ot & &1 Fm (D) 78, 37 &1 F™

25.  What day does Uma do her task?
(A) Monday (B) Tuesday
(C) Wednesday (D) Thursday
AT YA G B9 B 27
(A) ¥mar (B) #re@mr
(©) gar (D) Tewfiar

_ 26.  What task does Vernon do?
(B) dusting
(D) laundry

(A) vacuuming

(C) mopping

T T B BXar 87
(A) dagem &1 &M (B) g& s
(C) wret @ (D) =9 @ geng

27.  Whatday is the vacuuming done?
(A) Friday (B) Monday
(C) Tuesday (D) Wednesday
dagam Y @ & e 37 g &°
(A) gFar (B) xR
(C) wrear (D) g

28.  When does Sally do the dusting?

(A) Friday (B) Monday
(C) Tuesday (D) Wednesday
Al g Fa zredt 872

(A) goar (B) wrmr

(€) #rerar (D) gmar

Directions for Q.29 to Q.34: The questions are based
on the information provided below:

U e 29-34 @ favy fadw oy MR A
SN uX a2,

From a group of seven people - J, K, L, M, N, P
and Q — exactly four will be selected to attend a
diplomat’s retirement dinner. Selection must conform
to the following conditions:

I. Either J or K must be selected, but J and K
cannot both be selected.

II.  Either N or P must be selected, but N and P
cannot both be selected.

III. N cannot be selected unless L is selected.
IV.  Qcannot be selected unless K is selected.

I S S U@ I @ DI R aAfedl B U g @

Hagfd W W @ @ A w1 R @ R g R wme,

=79+ Frafafed w6l & smur w @

. JaRKFAA SN o @ agg e wear &1 J 3k
K &1 =39 w1 § =181 8 waar|

II. NdRPHAARRwadagadwsar | N
3R P &1 gu wr # TE 8 waar)

I Nar =53 @t & w&ar @ wia L &1 999 g3 &t

V. Qa1 =ga @it & wavan @ 5@ K &1 997 g37 8t |
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29.

30.

31.

32.

Which one of the following could be the four
people selected to attend the retirement dinner?

<1 1 TR A @R R ouRed B @ frg wufia
& Had & ?

(A)J, K, M, P
©€) I, M, N, Q

B)JL, LN, Q
M)K, M, P,Q

Among the people selected to attend the
retirement dinner there must be

(A) KorQorboth (B) LorMor both
(C)NorMorboth (D)NorQor both
g4 Tu A # W W SuRed 89 AifeT

A)KmQ@madi  (B) LwrMa <
(O NzMaad (D) N@Qm

Which one of the following is a pair of people
who cannot both be selected to attend the
retirement dinner?

(A) Jand N (B)Jand Q
(C)Kand L (D) K and N

e 3§ R 3 S < A & S any § e W SR
& & |9ad ?
(A) JeiR N
(CO) K3RL

(B) IR Q
(D) K kN

If M is not selected to attend the retirement
dinner, the four people selected to attend must
include which one of the following pairs of

people?

(A) Jand Q (B) Kand L
(C)Kand P (D)L and P

e M & 9ae @R @ fag wd g @ @a wata
R sl A e F /B QA s @ ?
(A)J3RQ (B) KaRL

(C) KR P (D) L3RP

33.

34.

If P is not selected to attend the retirement
dinner, then exactly how many different groups
of four are there each of which would be an
acceptable selection?

(A) one (B) two

(C) three (D) four

anR P @1 waA @ @ forg A8 e @ 9@ AR et
B frad @ g e frer wae W g ?
(A) @ (B) @

(C) = (D) IR

There is only one acceptable group of four
that can be selected to attend the retirement
dinner if which one of the following pairs of
people is selected?

(A) K and M (B) LandN

(C) Land Q (D)Mand Q

e 3 @ frw S &7 =TT A S AR S FT
e @ wE Ao @ foag Whedd € ?

(A) K 3R M (B) L3R N

(C) L3RQ (D)M3iRQ

Directions for Q.35 to Q.38: Find the odd word/
letters/number/figure from the given responses.

fady : wea (35-38) # RAHTd Tk / 3R/ e /= iy

&Y SRl # ||

35. (A) Newspaper (B) Press
(C) Edition (D) Audition
(A) I=aR
(B) =
(C) xR
(D) weneT® Fel weHA

36. (A) Microbe (B) Microfilm
(C) Microphone (D) Microscope
(A) Ay (B) =1 R
(C) wrEshrerT (D) gesreret =
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37.  (A) PRSQ (B) UWXV
(C) LONM (D) CEFD

38.  (A) YXVU (B) ORQP
(C) KJHG (D) MLJI

Directions for Q.39 to Q.41: Look carefully for the
pattern, and then choose which pair of numbers
comes next.

guq W& 39—41 @ forg ted @ fag enrqd®
e@‘mmgﬁ'ﬁ;mmpmsimmg?

39. 17173420203123

(A) 26 23 (B) 2333

2128 (D) 23 28
40. 2345648

(A) 9 10 (B) 4 8

(€) 104 (D)9 4
41. 61575061 433661

(A) 29 61 (B) 2720

(€)2215 (D) 29 22

Directions for Q.42 to Q.45.: Complete the series
by choosing the appropriate missing term from the
options given.

qu @ 42—45 @ fog Prd R T Reet ¥ 4
waffre Suygad squiter @ (term)®T 947 HY 4
¢ A B W

42. FRP, HPQ.JNS, LLV, ?
(A) PKZ (B) NJZ
(C) 0IZ (D) MKZ

43. Z15A, W13C, 2, Q9G, N7L
(A) T12F (B) R11F
(C) TIIE (D) RI3D

44, 22,21,23,22,24,23,7
(A) 22 (B) 24
(C) 25 (D) 26

45. 8,43,11,41,?,39,17.
() 8 (B) 14
(C) 43 (D) 44

Directions for Q.46 to Q.51: Fill in the blanks by
choosing the best option.
uﬂ#@nw—ma‘YMMH:mﬁwﬁ
Rag [ & W

46. QPONMLKIJI EDC
(A) HGF (B) CAB
(C) JKL (D) GHI

47. JAKKBLLCMMDN

(A) OEP (B) NEO
(C) MEN (D) PFQ
48. BCD BCD, B,CD BCD
(A) B,C,D (B) BC,D
(C) B,C,D (D) BCD,

49. ELFAGLHAILJA MLNA

(A) OLPA (B) KLMA
(C) LLMA (D) KLLA
50. PQRPQSPQT____PQV
(A) PQW (B) PQV,
(©) P,QU (D) PQ,U
51. CMM EOOGQQ KUU
(A) GRR (B) GSS
(C) 1SS D) ITT
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Directions for Q.52 to Q.100: Choose the most
appropriate option.
¥ @A 52-100 B fag rdw: wafaw Rae g4

the printing press was many times greater than
demand had been for manuscript copies. This
increase demonstrates that there was a dramatic
Jjump in the number of people who learned
how to read in the years after publishers first

52. 4,7,25,10, _? ,20,16,19 A mipn
started producing books on the printing press.
WAy 13 (B) 13 Which one of the following statements, if true,
(© 20 D) 28 casts doubt on the argument?
(A) During the first years after the invention
53. 72,76,73,77,74,_2_,75 of the printing press, letter writing by people
(A) 70 B) 71 who wrote without the assistance of
(C) 75 D) 78 scribes or clerks exhibited a dramatic
inctease.
54. 70,71,76, 2 81, 86, 70, 91 (2) Books produced on the printing press are
(A) 70 ®) 71 often_fou'nd with wrltte-n.comme-nls in the
margins in the handwriting of the people
(©) 80 (D) 96 who owned the books.
(3) In the first years after the printing press
55. Given : Sunday, Monday, Tuesday, was invented, printed books were
Wednesday, Thursday, Friday, Saturday purchased primarily by people who had
What day comes three days after the day which always bought and read expensive
comes two days after the day which comes manuscripts but could afford a greater
immediately after the day which comes two number of printed books for the same
days after Monday? money.
(A) Sunday (B) Tuesday (4) Books that were printed on the printing
(C) Thursday (D) Saturday press in the first years after its invention
often circulated among friends in informal
T@ R, AR, . 3zaw, - reading clubs or libraries.
YFIR, IFER
i Rt 99 R & A1t R a1 e 8, <t o R TR0 @ el e R weh eafore st
3 3 R 9< o 2, WY 99 9 D & a2 3 A @O o v off | gEv-T exafafea deeon
£, S WER < R are amar 22 W B TRl grad BT o | GRS @ BN
©) 7% (D) TR i ara‘gvnwrm Tran‘:mr EH
& & yarast gRT qRu—ast ¥ g tar ey 9
YHATT & 918 & 981 YT WRa arell @) |@n 3
56. Before the printing press, books could be TBTe 7T |
purchased only in expensive manuscript copies. (A) Heui-25 & AR & a1e BT Yoard ot §
The printing press produced books that were s a1 4o & werar @ e ot @ frard
significantly less expensive than the manuscript ¥ ea gfy g
editions. The public’s demand for printed : ; ~
books in the first years after the invention of ®) %ﬁ;ﬁm j@ﬁi‘% glm e w
Space For Rough Work
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37,

(C) Jev—a= & anfaep & wer aul 3 gfaa el
&1 B3 L IE A g e T, W uEe
#e ) exafafea wiafefa @deer ged & w
ara oE T R Sgrer yfed e |WE @ad o |

(D) gevi-3= @ AR @ T8 D YoHard! s #
Hfed [as qguT SRS Fordl a1 GRdredl
# faal & dig faaRa g oft

Bevex, an artificial sweetener used only in soft
drinks, is carcinogenic for mice, but only when
it is consumed in very large quantities. To ingest
an amount of Bevex equivalent to the amount
fed to the mice in the relevant studies, a person
would have to drink 25 cans of Bevex-
sweetened soft drinks per day. For that reason,
Bevex is in fact safe for people.

In order for the conclusion that Bevex is safe
for people to be properly drawn, which one of
the following must be true?

(A) Cancer from carcinogenic substances
develops more slowly in mice than it does
in people.

(B) If all food additives that are currently used
in foods were tested, some would be found
to be carcinogenic for mice.

(C) People drink fewer than 25 cans of Bevex-
sweetened soda per day.

(D) People can obtain important health benefits
by controlling their weight through the use
of artificially sweetened soft drinks.

% smes 07 ¥ agew wRE e g8l @ fon
PR TFF &, W a9 w9 Afre w1 A Iugad gl
2| Hag apugAl § e Y Rl wman gal B
Reemar war o S 7 @m @ fog 60 afed o
Mg gRT WYRT 3WEE T D 25 Q@ Aot A
T | I @ @ o e awe A R 2
79 frsd f& e ot @ fag e & wad
ave ¥ vgE @ fag fefafea 4 § a9 v 87

58.

(A) SueHs el A e A s gul 3 SR
wrTer fR—4R 9 21

(B) amR S @) geredl @, o +Hed awgel # ey
W €, wirg @Y oy, O 99 @p g8l @ fay
HEve® gl WIgd

(C) & 25 ¥ ¥ @ driew | wgRa wrer dd €

(D) &3 adid & AgRT ameed Ua yerl & @IER
A HYAT AR HA B AT HEedyol @Rl ™
wEHd €

Saurabh: Airlines have made it possible for

anyone to travel around the world in much

less time than was formerly possible.

Monica: That is not true. Many flights are

too expensive for all but the rich.

Monica’s response shows that she interprets

Saurabh’s statement to imply that

(A) everyone has an equal right to experience
world travel

(B) world travel is only possible via routes
serviced by airlines

(C) most forms of world travel are not
affordable for most people

(D) anyone can afford to travel long distances
by air

Hivw: gag ufal 4 Wi @ fw vsa § 987 &9

waa ¥ & gRewm wia o faar 21

AfyeT I8 W E & | 957 W oM NI Bl Big

i & forg ardfia weh 2

AT 9 wfafdar | uda gar @ 5 we Wi @

of ¥ 39 @=e guEal & e wade &

(A) T fe & RS- &1 FHE AR 81

(B) fva—yor #19 918 ORI ¥ & wWa 2

(C) wafs < & fog ey walfes wer
@4 g8 & 4 A8 2

(D) ¢ M &arE TR | R T AT IXA A HEH
Bl
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S9.

60.

Nutritionists have recommended that people
eat more fiber. Advertisements for a new fiber-
supplement pill state only that it contains “44
percent fiber.”

The advertising claim is misleading in its
selection of information on which to focus if
which one of the following is true?

(A) Nutritionists base their recommendation on
medical findings that dietary fiber protects
against some kinds of cancer.

(B) It is possible to become addicted to some
kinds of advertised pills, such as sleeping
pills and painkillers.

(C) The label of the advertised product
recommends taking 3 pills every day.

(D) The recommended daily intake of fiber is
20 to 30 grams, and the pill contains one-
third gram.

FER—fdws SrEed i aRum & SR W e

T ¢ & Ar @1 vy o Surer @WiEn 9y | i

4 TI—HTRES en & fasme= e ga=m sa &

& S99 "44 ufowa oy’ &1

(A) smer fagesi 31 srqer seed wig—aRusE
W ARG €, 3P JTER RI-ag I D
HY YHR I [RAT USH H € |

(B) Fereme @ edfara mifedt ot @8 fasfia
et Bt 3t 8 I @ wHEE 8

(C) faznfa Seure &1 o9 wfafes 3 el @@ A
T HRAT & |

(D) a=g @' sreifta e s 20-30 7w @ o
& el # yw e am aeg e 8

Many environmentalists have urged
environmental awareness on consumers, saying
that if we accept moral responsibility for our
effects on the environment, then products that
directly or indirectly harm the environment
ought to be avoided. Unfortunately it is usually
impossible for consumers to assess the
environmental impact of a product, and thus

impossible for them to consciously restrict their
purchases to environmentally benign products.
Because of this impossibility there can be no
moral duty to choose products in the way these
environmentalists urge, since :
Which one of the following principles provides
the most appropriate completion for the
argument?

(A) a moral duty to perform an action is never
based solely on the effects the action will
have on other people

(B) aperson cannot possibly have a moral duty
to do what he or she is unable to do

(C) moral considerations should not be the sole
determinants of what products are made
available to consumers

(D) the morally right action is always the one
whose effects produce the least total harm

TEd W TafaRvIfdg Swier & yafarer-wad sraan
W WR 2 ¥ 996 FE ¢ ¥ R g wiw )
I wT A Afe O ) Wer s € @
WoOE A WIE w9 ¥ aiawer @ g1f ugeet e
Jeqrel b1 GRER ST =R | goiey, A
Syttt & fag 60 s @ i w® wig o
TR—EHT AT FFHA & IR TEGIER T I
gaiaror-fRddt Sarel oo g W aHT 21 39
IRl & SRY wAfeRufdg @ AUE @ IR
IO 99 H P2 Afve R T8 8 aedr
i fafafea fagr § @ o7 sde as &1
Taragad wegel er?
(A) 1 wwrE &1 Afvs sda e e &
SRR 111 AR O 5 s B i S s s i
(B) <t & $13 @afew dx 7E wHa /FHdl €, 9
FA 3 Afde e 96 @ 7@ 8 wddl 8
(C) s a& & 39 9 &1 w& 7= fuRs 78 8
o & & Suearsl @ S e W B
2
(D) wen 9€! o1l Afve vy ¥ wd e & W R A

&4 wqef &1 ugarar €|
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61. A manrowed 3 miles upstream in 90 minutes. 64.  What is the area of a semicircle with a diameter
If the river flowed with a current of 2 miles of 16 inches?
per hour, how long did the man’s return trip (A) 32x square inches
take? (B) 64r square inches
(A) 20 minutes (B) 30 minutes (C) 1287 square inches
(C) 45 minutes (D) 60 minutes (D) 256m square inches
wa ared ue g @ ol R A IR R 90 v afga R e 16 §9 8, SHwT dawd @
farte % 3 Mol R oW BT § | R R A IR 2 £rm 2
§ig ufy "er & @ o F§ Iw @ fHaw W (A) 32 af 9 ®) 64t 5
E I [I . . arf (3
(A) 20 Fre (B) 30 e (C) 128n =t €9 (D) 256n f 57
C) 45 fame 60 e
© ®) 65. Which of the following figures has the largest
! perimeter? (1foot=12 inches)
62. A man walks 10 miles at an average rate of 2 (A) a square with a diagonal of 5 feet
miles per hour and returns on a bicycle at an =g
average rate of 10 miles per hour. How long (B)a rccta{lglc wnth‘ sides 0f'3 feef and 4 feet
(to the nearest hour) does the entire trip take (C) an equilateral triangle with a side equal to
him? 48 inches
(A) 4 hours (B) 5 hours D) a regular hexagon whose longest diagonal
(C) 6 hours (D) 7 hours is 6 feet
T e e B s e 2 A v o D R Eﬁ@‘”ma_ oft @1 aRPR waw FS1 e 87
A 10 A 0 74 IRAT & W UF WEHe W 10 e (1% = 12%9)
ey € @ s =Te W ATe 1 S &, g AT (A) w& =i 5 Rl & e
¥ 99 fran wAg @ ? (B)3uﬁ€a%qaaﬁ?4qﬁza§wwama
(A) 42 (B) 5 (C)wméa%mw%www%aﬁw
(©) 6= (D) 7€ m)wﬁuﬁawmﬂmwﬁt}?ﬁs
wie &
- 63. A circular garden twenty feet in diameter is
surrounded by a path three feet wide. What is | 66. Two bicyclists travel in opposite directions.
the area of the path? _ One travels 5 miles per hour faster than the
(A) 51msquare feet  (B) 607 square feet pther. In 2 hours they are 50 n?ilgs apart. What
(C) 697 square feet (D) 90w square feet Zthe rate of the fastcr;:};:lla:é g
wEEe G R , GEdl HaAR
{ﬂi%ﬁﬁanﬁtﬁémw%aﬂm%a’rdﬁ
e gtnd v forwan @i 20 HE &, = @ 3 2 @ TR 4 s0 A A g0 W . R
3 B 91 RS A Rw 8, TR BT SAwS w27 BN S
(g) Z;E::f 22 ®) ggﬂ:: :2; (A) 11.25 mph (B) 15 mph
(C) 63 () M (C) 20 mph (D) 22.5 mph
Space For Rough Work
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67.  Sonal has finished reading 30% of a340-page | 72. Rani will be twice Raja’s age in 3 years when
novel. How many pages has she read? Raja will be 40. How many years old is Rani
WIS 7 340 Yy @ UH IUE @ 30% g fern now?
1 9 ST @ e e e i o a1e S e @ Ay 40 B a3 @Y sy
(A)102 (B)](B Wﬂﬁmﬁmmlﬁmﬁmﬁm
e 22
(C) 105 (D) 113 #
(A) 20 (B) 80
68. Of 150 people polled, 105 said they rode the Sk e
city bus at least 3 times per week. How many
people out of 100,000 could be expected to | 73. The perimeter of a parallelogram is 50 cm.
ride the city bus at least 3 times each week? The length of the parallelogram is 5 cm more
SR 150 S @Y TIIHR ¥, 105 A wET B 98wl than the width. Find the length of the
TATE A H9 A B9 3 IR R 7w A = &, 3 100,000 parallelogram.
a3 febert] @t wfy wraTe @9 ¥ @ 3 aR i) @ UE WA IS ST 9fkeg so A Mew & | wwiew
A g F wra &2 AP # g e ¥ 5 W Mex warer
(A) 55,000 (B) 70,000 WA A Y P |
(C) 72,500 (D) 75,000 (A) 15 cm (B) 11 em
(C) Scm (D) 10 cm
69. The sum of a number and its double is 69.
What is the number? 74.  Rahimtravelled straight from point Eto F ata
IR TF Wear 3k I [ @1 A9 69 Rt aw distance of 5 km. From F he turned left and
W gl — travelled 6 km and reached point G, there he
took a left turn and travelled 5 km to reach
(~) 455 (B) 343 point H. He took another left turn and trave lled
(C) 23 (D) 20 2 km and reached point I. How far is he from
the starting point?
70.  Twelve less than 4 times a number is 20. What WHEdFms A skmA @ ag s &1 F
is the number? ¥ 9% 9l 3R e & R 6 km @R G T@
U 3T & IR Y W 12 9 BT A 20 B | 98 GE@ A & | 7€ fiR Al 3R goaw s km = @ ok
a1 27 H oz ogwar & | a8 A 9l aik geaw 2 km =erar
B3R [ W vgaar &1 95 awh Yoo Y g @
A)2 ®) 4 faraet < @ 27
e D) 8 (A) 3 km (B) 4 km
(C) Skm (D) 7 km
71. A certain number when added to 50% of itself
is 27.What is the number?
ok v& W R so wia @t anr 27 @ 9w
e wrfl-
A)7 B) 9
©) 11 D) 18
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75. A man is facing East, then he tuns leftand | 79. In computing noble prize is generally known
goes 10 m, then turns right and goes 5 m, then as
goes 5 m to the South and from there 5 m to (A) Von Neuman award
West. Inwhich direction is he, from his original ;
(B) Turing award
place?
(A) East (B) West (C) Pasc.al award
(C) North (D) South (D) Napier award
ve @fd @ @ 3R <w e 8, R aw 9l @R
e 10 m Ferar 8, v g <rfl SR gear # e | 80. International Domain Names in Applications
5 M Tl £ 3} a9 98 5 M R N AR e @ (IDNA) uses which encoding syntax to
afte fre a8l ¥ 5 M ufEw omar 1 a9 Yo W represent Unicode characters in ASCII format
 ae fvw fean § 87 (A) Punycode (B) DHTMLed
(A) w9 (B) uf¥=m (C) HASHcode (D) BERcode
(C) SR (D) =féyor
81. IRNSS-1Eis fifth satellite in the
76. GIMPS project of the University of Central (A) IRNSS (B) SHAR
Missouri is responsible for discovering (C) ISRO (D) MARS
(A) Largest known prime number
(B) Biggest meteor 82. Internet Protocol version 6 (IPv6) is developed
(C) Zika virus by
(D) Secure cryptographic Algorithm (A) IETF (B) ANSI
(C) ISO (D) IEEE
77. ALMAisa
(A) Powerful open source web browser 83. Among the following
(B) Giant Telescope (i) WLAN (ii) ZigBee
(C) Fastest Supercomputer (iif) WiMax (iv) Bluetooth device
(D) Biggest Navigational satellite of India Which of the above can operate between 2400
and 2500 MHz range of the radio frequency
78.  Advanced LIGO recently observed the bang _? - )
(A) Black Hole activity (A) (1-) and (ii)only  (B) (iii) and (iv) only
(B) Gravitational waves (C) (i) only (D) All of the above
(C) UFO :
(D) Sun Temperature 54, ARk
(A) Lexical Analyser
(B) Emulator
(C) Plagiarism checker
(D) Big data analytic tool
Space For Rough Work
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85. Kevlar belongs to a class of materials known | 91.  Constantinos Daskalakis proved that computing
as the Nash equilibrium for a three-person game
(A) Ceramics (B) Polymers is computationally
(C) Carbon (D) Plastics (A) Tractable (B) inP
(C) Intractable. (D) Decidable
86.  Which Computer Program was claimed to beat
the Turing test 92. The concept of semantic web was proposed /
(A) Eugene Groostman given by
(B) Deep Blue (A) Ullman
(C) Al (B) Ravi Sethi
(D) Trueman (C) Time Berners Lee
(D) Donald Knuth
87. Who gave the (so-called) Three laws of
Robotics 93. Researchers at the Massachusetts Institute of
(A) von Neumann  (B) Issac Asimov Technology (MIT) have shown that by
. . exploiting the polarisation of light — the physical
(Al swsing L phenomenon behind polarised sunglasses and
most 3-D movie systems — they can increase
88. has been predicted to deliver the resolution of conventional 3-D imaging
cancer-killing medicine at a molecular-level. devices by up to times.
(A) MolDel (B) CurelT (A) 10 (B) 100
(C) Nano—Cages (D) Nano — Tubes (C) 1000 (D) 100000
89. Sodium based have been | 94. Which fundamental particle is a sub-part of
predicted to lead to cheaper, more stable and proton.
more powerful mobile battery power. (A) quark(s) (B) fermion(s)
(A) Lithium Hydride (C) boson(s) (D) bogolon(s)
(B) Carbonyle
(C) Silicate 95. Which manifestation of the predications of
(D) Complex Metal Hydride General Theory of Relativity was
experimentally validated.
90. Quantum computers are assessed to be (A) Energy waves
. (B) Precession of Mercury’s orbit
(A) Supra— Turing Machine. (C) Bending of light about a massive body
(B) Sub— Turing Machine. (D) Gravitational waves
(C) Equivalent to Turing Machine.
(D) Equivalent to Push — Down Automata.
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96.

97.

98.

09.

100.

Who showed that primes are in P.

(A) Maninder Aggarwal, N. Kayal and N.
Saxena

(B) Donald Knuth
(C) Aho, Hoperoft and Ullman
(D) Tim Berners Lee

Self Organizing Maps are

(A) A type of statistical tool for data analy51s
(B) Atype of Artificial Neural Networks

(C) Atype of particle Swarm Algorithm

(D) None of the above

Hopfield networks are a type of
(A) Giga bit network

(B) Terra bit network

(C) Artificial neural network
(D) Wireless network

Sigmoidal feedforward artificial neural
networks with one hidden layer can / are

(A) approximate any continuous function.
(B) approximate any dis-continuous function.

(C) approximate any continuous function and
its derivatives of arbitrary order.

(D) exact modeling technique.

ICA (in computational intelligence) stands for

(A) Intermediate Computational Algorithms
(B) Immediate Computation and Analysis
(C) Independent Component Analysis

(D) Independent Computational Algorithms
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